IK: - dynabook

PARTS LIST

Model Name:
|_SKUNo [Short]: |

SegNo LocNo

01-C
03-A
03-A
05-B
05-B
07-C
07-C
07-C
08-B
08-B

22-B
23-A
24
25
26
27
28
29
30
31
32
33
34
36
37-A
38
39
40
4“1
42
S01
S02
S03
S04
S08

C30-K

PSY11E, PSY12E

ToshibaPN

K000896920
P000839240
P000783300
P000846390
P000835320
P000826350
P000826360
P000845420
P000537110
P000554120
P000850630
P000850650
P000850040
K000899940
K000896760
K000896680
K000897070
K000897130
K000897260
K000897270
K000896730
K000896740
K000897170
K000897180
K000896710
P000816110
K000897240
K000897250
K000896800
K000896810
K000896840
K000896850
K000896700
K000896720
K000896750
K000896780
K000896830
K000896860
K000897200
K000897220
K000896870
K000896790
K000896820
K000896880
K000897160
K000897280
K000897290
K000897300
K000897310
K000897340

G33C000AW110
G33C0009Q110
G8BC000CX510
G8BC000CT510
G4BCO0003EFS0
G4BCO0003FFM1
G4BCO0003NFSO
GDM900001221
GDM900002250
G71C000MPL30
G71C000MPC30
G71C000NB110

G86C0007TD10

PCB
LCD
LCD
SSD
SSD

MEM
MEM
ACC
ACC
ADP

LIB
KB
TP
cov
cov
cov
cus
cus
PCB
PCB
BH
BH
SPK
com
COM
cus
ETC
ETC
ETC
FAN

HAR
HAR

HAR
HAR

HAR
INS
PLT
PLT
PLT

SCR
SCR
SCR
SCR
SCR

Category
MOTHER BOARD ASSY
LCD 13.3 FHD 470
LCD 13.3 FHD 470
SSD M.2 512GB
SSD M.2 512GB
MEMORY DDR4 3200 16GB
MEMORY DDR4 3200 16GB
MEMORY DDR4 3200 16GB
AC CORD SET(3WIRE)
AC CODE SET 3PIN
AC ADAPTOR-L 3P 45W 2.37A
AC ADAPTOR-L 3P 45W 2.37A
BATTERY PACK 3CELL U30
KB ASSY BLUE NORDI
TOUCH PAD
BASE ASSY
LCD BEZEL
LCD COVER
LCD PULL TAPE L
LCD PULL TAPE R
10 BOARD
LID BOARD
HINGE L
HINGE R
SPEAKER L/R
WLAN+BT COMBO MODULE
CAMERA
MIC RUBBER
TP CONDUCTIVE TAPE
FINGER PRINT SENSOR
THERMAL MODULE
FAN
BATTERY CABLE
FFC 10 BOARD TO MB
FFC LID BOARD TO MB
FFC TP TO MB
FFC FP
DC IN HARNESS
EDP CABLE RGB
FPC CAMERA
WLAN MYLAR
TP SUPPORT BRACKET
FP BRACKET
DDR SHIELDING
ANTENNA WLAN MAIN/AUX SET
SCREW M2.0X2.0
SCREW M2X2.5
SCREW M2.0X3.0
SCREW M2X5
SCREW M2.5X5.0

VendorPN|

LQ133M1JW64
LQ133M1JW41
C-E80T512G2-PO03D2E19T
MZVLQ512HBLU-00B00
M471A2G43AB2-CWE
MTABATF2G64HZ-3G2E2
M471A2G43BB2-CWE
063013/8

102927/8
PA-1450-60T1_PIN3.5
A045R096P-DA01-X1
DGP.S30.467866-0100

AX201.NGWG.NVW



K: ¢ dynabook

DRAWING




